H & 0l & AHS B Ml A

SN EUE
M ZOIMAHO| D (FUS) (YD DHUE/UHT)
el sy =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
eSS 690,113 663,550 26,563
FORMIHOC R (A US) (LESSHE/LLHET) 607,068 581,330 25,738
Sy =29 607,068 581,330 25,738
Sy 29 N2gl 23,484 33,900 10,416
201 fer= 3| 21,484 24,900 A3,416
01 At 2|l 15,984 16,200 A216
OSHEHEFA AIR22(H 5,400,000& 5,400
OReALSI| FAE==H
50,0002 «2CH* 12 1,200
OnlYS TRIE UXR
100,000& * 122 1,200
O=gll gitz 198,000 x2CH* 12 4,752
OZeEI| Xtz 71,5003 4t 122 3,432
2 352484l 5,500 8,700 23,200
Osgdxd 5523 2,000,000& 2,000
OXE=AH & A223H| 3,500
oSHFYPUH(IE EH)
2,000,000& 2,000
o RODI=E2ASX(HIIXSI})
1,500,000 1,500
202 04l 2,000 4,000 22,000
01 =LHAHI 2,000 4,000 /2,000
Oosdd=d U0l 1,000,000 1,000
OXOPI=EAH=XE =0l
1,000,000& 1,000
S A FOUSJAIY A AYME Hel(X2LS) 22,000 35,000 13,000
401 AIEHIZ R 0HYI 22,000 35,000 A13,000
01 Al&HI 22,000 35,000 A13,000
Oot2d 84l At 12,000,000 12,000
OAarl F0AS AIEdE B
10,000,000 10,000
FOUXRIME & =R 29 81,080 114,922 N\33,842
201 fet= 3| 31,120 31,320 A200
01 AtR2tc|HI 30,120 30,320 A200
O=QUXX 283t ArR22lH|
1,800,000& 1,800
O=CXtxla 2tz A
20,0002 35«12 8,400
OFRINAIS YRS Ea4E
20,0003 13 ~12& 3,120
OF2XRE 3o Fe+=E
20,0002 x35H*23| x 12 16,800
2 35244l 1,000 1,000 0
O=2IXXIHE A2 EHIFXIH]
1,000,000& 1,000




SN EUE
M ZOIMAHO| D (FUS) (YD DHUE/UHT)
el sy =29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 3,000 3,000
01 MHZH| 3,000 3,000
OAtg2l 2HHelE 0 M=HI
3,000,000 3,000
301 EetE2 N = 46,960 47,920 2960
11 #AIAHIXIE S 2,080 3,040 A960
Ozl?ds 2sadlld=s
8,0002 35 *43] 1,120
OXESAA S41I 8,0002 30 *43] 960
14 IIEt2 83 44,880 44,880 0
O2ZtAt =& 38,0002 x102 123 4,560
OFCNRHHEZ Y At
90,0002 x8 +83|+7& 40,320
A= X2t 13,816 12,370 1,446
201 =3 13,816 12,370 1,446
01 At22t2lt] 10,216 8,770 1,446
OFAL d2=)| 8Xtg
50,4503 =3 122 1,817
OFA R213H| E9& 99,0003+ 122 1,188
OFA ASEY 442
21,0008 ¥ 122 1,452
O AMZ HHl(4EE ®Y)
1,739,000& 1,739
OF AL s-&4A HiO SX2
18,3303 60~ 123 1,320
OB A=Al 2Eet=2EH|
2,700,000& 2,700
02 s3=gHl 3,600 3,600 0
OFAL A ZH| 400,000 x4 1,600
OF A2l SES2gH|
2,000,000& 2,000
s -2y 2323 466,688 385,138 81,550
201 er23y| 81,910 80,160 1,750
01 AtR2t2|HI 81,910 80,160 1,750
OstHs XAEEX 80,160
oYU 20,0002 57+ 128 13,680
SPNE =N 20,0003 %277+ 128 66,480
Os¥8 X 25,0008 704 1,750
301 LEtE N = 384,778 304,978 79,800
07 S8 -0 - 2243 360,410 280,610 79,800
Oos&+¢ 346,560
oJlE2+¢ 400,000 x57 H+ 122 273,600
o&doi= 400,000 x57 F 23] 45,600
03N
20,0003 x57H*23|x 12 27,360
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